Non-Excelsior
Erosion Contr

18” pins or
6" staples on

6” centers across
bottom of trench

Apply the mat on steep slopes
by backing down hill. Keep the R e
edge over/ap;fng adjacent

material by 2.

On

the matting may be applied
hor«'zonfa//?/. 4 PP

NON-EXCEL SIOR EROSION, FONIIEOE MA], INSTALLATION

Non-Excelsior
Erosion
Control Mats

Trench

Completed
check slot

Catch basin
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Direction
of flow

6” min.

f Concrete
apron

Provide check
slots as shown
in STEP | and

STEP 2 Details —/

CHECK SLOT AT STRUCTURES

18" pins or
6” staples on
6” overlag, 6” centers across roll
—7 /‘—* to anchor top mat
Upgrade End
y oegMaf

Direction
of flow

18” pins or
6” staples on

6” centers across
bottom of trench

tam,
Treﬁch

STEP 1 CHECK SLOT CONSTRUCTION DETAILS

Overlap should be slit only
enough to allow for check slot:

Downgrade End
of Mat

ol Ma?‘s—\

Non-Excelsior

Direction
of flow
—

Lap upgrade mat
on top~as shown

©

min.

Fill and tamp trench as in
check slot construction.

TYPICAL INSTALLATION
EXCELSIOR EROSION CONTROL MAT INSTALLATION

Extend mat 2’ beyond
the break at the top
of the slope and
furnish end slot.

END OF ROLL OVERLAP

Excelsior matting

short gradual slopes,

18” pins or

6” staples on

6" centers

across check slot

Erosion Control Mats

NOTES
GENERAL: The details shown govern the installation of

Erosion Control Mats unless otherwise shown in the plan.

END OF RUN: Use a check slot and staple or pin in the
slot as shown in END OF ROLL OVERLAP Detail for all
mats excluding excelsior mats. When placing matting for
all ditch protection, start at the downstream end, as
shown in the CHECK SLOT AT STRUCTURES Detail.

‘!/— End Slot required.

Netting must be on top.

' Excelsior Erosion
#/ Control Mat

Overlap upgrade mat by 1/5”
and sfgp/ggaf 6” /'nfer{o/s.z
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